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admin:utils ntp status
ntpd (pid 28589) is running...

remote refid st t when poll reach delay offset jitter

10.0.0.1 192.0.2.0 2 u 40 64 1 0.292 0.041 0.000

synchronised to NTP server (10.0.0.1) at stratum 3 time server re-starting poll server every 64
s Current time in UTC is : Fri Sep 16 19:41:55 UTC 2016 Current time in America/New_York is :
Fri Sep 16 15:41:55 EDT 2016
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ntp_reachability £

admin:utils diagnose module ntp_reachability

Log file: platform/log/diag2.log

Starting diagnostic test(s)

test - ntp_reachability : Passed

Diagnostics Completed
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admin:utils diagnose module ntp_clock_ drift
Log file: platform/log/diag3.log

Starting diagnostic test(s)

test - ntp_clock_drift : Passed

Diagnostics Completed

ntp_stratum TIEt 2 &2 IM&POIA NTP stratum 2t & QIEfLICH. CUCM HAIRIZF IM&P 2| 2|
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admin:utils diagnose module ntp_stratum
Log file: platform/log/diag4d.log

Starting diagnostic test(s)

test - ntp_stratum : Passed

Diagnostics Completed
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admin:utils network capture port 123
Executing command with options:
size=128 count=1000 interface=eth0
src=dest= port=123
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imppub.lab.local.46476 > cucmpub.lab.local.ntp:
cucmpub.lab.local.ntp > imppub.lab.local.46476:
imppub.lab.local.46476 > cucmpub.lab.local.ntp:
cucmpub.lab.local.ntp > imppub.lab.local.46476:
imppub.lab.local.46476 > cucmpub.lab.local.ntp:
cucmpub.lab.local.ntp > imppub.lab.local.46476:
imppub.lab.local.46476 > cucmpub.lab.local.ntp:
cucmpub.lab.local.ntp > imppub.lab.local.46476:

admin:utils network capture port 123

Executing command with options:

size=128 count=1000 interface=eth0

src=dest= port=123
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imppub.lab.local.46476 > cucmpub.lab.local.ntp:
cucmpub. lab.local.ntp > imppub.lab.local.46476:
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